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When she was married already - NO"WD

OVERVIEW

The X713 concluded that according to 727, the &n»"2 that states that if the
9w did not say 1"92 the vy will be “w> if Pmmina o»pni, is under the
following two conditions: a) 1725w 1R, and b) noww>.

There are two differing opinions regarding s7am ' position! in the case of
U3 IX°2AW 2°1w; whether 1"92 is required or not. If we assume the position that
1"92 is required it would also indicate that >"9 agrees with 727 that saying
1"91 is on account of nwY. If however we assume that 1"52 is not required it
would also indicate that "7 agrees with X237 that 1"92 1s on account of a1p.

Mmoo responds to an anticipated difficulty:
= 29t 1990 ©HNI 22939 AN 293 1IN KD 19PY NINT XY

And regarding that which we learnt later? in a Xn»13, ‘if the m>w did not
say 1'"1123, the child that is born to a woman who remarried after receiving

this v, that child is a =tn.” We see from this Xn»12 that even if the woman
remarries, nevertheless if 152 was not said she is not nw713. Here however we say that if
she remarried it does not matter that 1"52 was not said. It is 72¥>72 7> and the child is
certainly not a .

moon answers; the ruling there that the child is a = -
= SRMNA 0PN XIYWI 19N

is applicable only when the v was not %2012 2%9pR. However our X3 states
that (only) if it was 2>1pn (and she is already married), then the v3 is 72v>72 Ww2.°

n1voIN asks:
= U 19N ND AN PDID PV /) TN (%9 97 1mps) NPAYNIDY NIND DON)

And if you will say; let this case be counted among the three types of
1w that are o5, however if she remarries the child is =w>. This case of

LR, m9.
2 Even though this is only the opinion of "9, and the 12127 argue and maintain that 71 7237 7X (and MPOIN
rules [on ¥ 7"7 2,9] that the 77377 is 13212), nevertheless even the 13137 agree that X¥n. See n"nx # 125.
32,7197,
4 n"3 will also agree that if Yamn2 0»pna then even if 1"92 X X2 the 791 is Ww>. This sets the stage for the
following question. See *"'&on.
5 See ‘Thinking it over” # 1.
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PANINA 2»pn1 1"02 R K91 should be a fourth case (according to ®727), in which the va is
initially 9109, however if she remarries on the basis of this v3, the child is not a 215,

nB0IN answers:
= N¥N NXD NXIN) RN V) /)3T N2 9207 MY U

And one can say; that 729 maintains that concerning the three yo©sa
mentioned in that 71w» she must leave her new husband; even though the
child is not a 71n, however here in the case of 1"92 X X> she is not

required to leave her new husband. She may remain married to him. Therefore the
mwn did not add this case to the three mentioned there.

moon asks:
= 93N 53499 19D TONT (3,1 97 1mpY) 7 PI92T NIWY INND 9NN ON)

And if you will say; according to the view in 2" in which 1™ '3
maintains, that -
= 9215 2153 132392 91217 129998 DN NITNN V) NYANY DNY
Two o>m>w who brought a >'"';172% w3, are required to say 1''52 etc.? -
— NNYY PRIPI PRV 29T 920PT ynRun
This indicates that 7171 'Y maintains that the reason for saying 1"92 is on
account of WY PRIP2 K. For if the reason were on account of ovp there is no
need to say 1"91 if two o°m>w brought the v3, so according to this Xaw>? -
— N2NT NN»92 70 VN N
How will >"7 explain this X092 here which states that if 1"52 was not said, and
there was o1p it is “w>. If he agrees with 727 that 1"92 is required on account of 1w,
how can 01°p validate the va -
= P21V PV ) MTNA (9 97 Py NXAYWNID 19 ONX NDIYI NPD 2IYUN INY
For if °"7 will interpret the Xn»"2 in a case where she already remarried;
if that is indeed so, then let him include this case of no2w> among the
three 1w s that are 198, and nevertheless 2w 7937 no°1 aX). The same question M5OI
asked previously on 727. We cannot answer in the same manner as previously, namely
that >"9 maintains that concerning the 103 '3 the 17 is X¥n, and in our Xn»12 the PTis K

N¥n -
= NS5 XD 993 PV /)T cow) 7O P93 DY NN 1IN 79 XNY

¢ According to 837 the 03 is 72°1n3% W) even if No7 XY,
7 See later on 2,79 that there is a npY7nn regarding the 179109 P '3 whether X¥n or XXn &Y.
8 See ‘Overview’.
"1 1y (19)
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For "' maintains in ©'"> that by those 1733 '3 the 17 is also X¥n K», just like
in our Xn™12. The question remains according to *"7 why does not the mwn» add the case
of the Xn°>12 to the WD 7917 NRWS1 ORI P2I109 1L A,

moon will present a possible answer and refute it.
= 18Y VI NHNN DIV NN BPYN NDT 9127 PN)

And we cannot answer, that the reason our case is not added to the 1w '3,
is because the mwn does not count cvery 09, only a oo that is

dependent in what is written in the va itself. The %109 of the v '3 is in the
manner in which the 3 was written; X"V XPX 12 X ,J717 12 PR ,0%7V 1YY PR, however the
2309 in our RN™12 is not a 7109 in the v, but rather in the 1"52 n»X. That may be the
reason why the 1wn does not include it.

moon refutes this answer; it cannot be so —
= Y0IYNY NOYDT NN Y P93 1999INX NNT

For the X713 says in ©''® concerning the 71wn of v '3, ‘the number in the
X290 comes to exclude.” The mwn states "1 72109 73 '3 and enumerates them;
afterwards the mwn concludes P05 P AWHW 12X 77, After explaining what the first
number (Pv '3) comes to exclude, the &7m3 explains that the second number '3 17X >7)
Tv°3) comes to exclude a case -

- 09 12111 NO¥Y» AND) 392 9N KDY 1Y 1M
Where he gave her the v and did not say 1'"'92 and there was no 21p, the
new husband must send her away and the child from the new husband is a

AR, If the mwn is only discussing 12109 in the v3 itself, and it is not discussing 1"2109
arising from 1"92 naK, then how does the X713 say that the second number comes to
exclude a case of 1"92 K X9; that case is not within the range of 12105 which we are
discussing. The fact that the X3 maintains that the second "1 comes to exclude X X9
1"93, proves that the mawn is discussing all types of 12109, whether a 9109 in the v itself or
a 7109 in the 1"52 n7°nX. The question remains why according to *"3 did the 7awn of v "
12109 not include the case of 1nIn2 2PN 192 AR XY that it is a 79°102% 2109 and 72v°72
WD 727 NO"Iw?

nBoIN answers:
= N8N NRD 9307 1301 2397 RN NINNT PNY 13929 99IN)

And the "' states; this ruling of 33 '3 in which he is of the opinion that
by the 1100 w3 '3 the 17 is R¥N KD, this ruling -
- 1909 %2495 1Y FPNT (3,10 97 10pY) 72 PIDAT NIIP NIYWIYS INP
Follows the first view in 2"'5 that >''1 is of the opinion that 153 is required -
3
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= POYNRYT NIPDNI 1P 19981 D1Y IRV 29Y
Because m»pY PM3R 2979 IR as is the conclusion of that X9%x.!° Therefore
there is no question. *"1 who maintains X¥n X7 by 12109 71 '3 also maintains that 21°p is
sufficient; therefore this Xn>>72 that states: w2 »aMINA 2»pN1 oK 1"52 K XD is discussing
even no7w a7p. This w3 is 72°1n3% “w> if M2 o»pna. It is not one of the 17109 L2,
However the other opinion of *" which agrees with 727 may also maintain that by the "
X¥n v and therefore this X072 cannot be included.

mooIn offers another answer:
= 1N NI N2 NA9T TNT 99N 99) ON

Or you may also say that the np17nn between 8271 7127 is indeed a NP2 of
2°R1N. >"1 who maintains that X¥n X2 12109 702 '3, also maintains the ayv of 7nwh, which
will force us to say that this &¥n»72 is discussing only no1w>. Concerning the question
why the mwn does not add the case of this Xn»12 to the list of 7217 No°1 XY P9I0D PV
Twd, that is because the mwn of 1v°a "2 follows the opinion of X217, therefore it could not
include this 8n*92 in the P2 '3, because according to X217 it is a 72°1n3% WD vi. However
>"q himself as well as 727 will maintain that it is a 9w 7937 n0*1 oXY 2109 0. The fact that
this specific mwn did not include it does not disprove >"7\127 for they follow the opinions
of other o°Xin who argue with that 71w»n, and maintain that the ayv for saying 1"93 is on
account of 7wY.

$19M9 9399 (ow n1 o3 2IYW PI93 91913Y 9113 139¥aTH
as the X1 also attempted to say in 2"2 according to >''. At one point the
X3 thought that the npYoma between 777 "1 and the 7327 in the case of 1192 o™X DWW
2won 2" P05 anml 192 MR TARY AN is equivalent to the nPPin between RXaM 1127
(which is mirrored in the two m1w> of 131> ). The 1321 follow 1721 therefore it is 7109 and
"3 follows X2 therefore it is 7w2. We see that the 8713 considered that X7 °Xin X271 727,
We can say so as well according to this opinion of 71 .

SUMMARY

According to 727, if 1"1192 was not said, if the woman remarries the 1°7 is:
(according to n"9) TR M K¥N, provided it was not o™ pn. If it was 0™pn
then the va is 72v°72 WD.

The case of 1"192 R X2 and 1Mn2 0»pnl is not included in the w3 ('3)
WD TN NRWI XY 1109, because according to 727 in our Xn»72 the 17 is R
X¥n and by the w3 '3 the 777 is Rxn.

There are two differing opinions regarding s'137 " position in the case of

10 See 8,17 77 X3 that this view is a vvn ROW X7 70
1'See 1"nx # 138 who cites the question of the X"¥™ here 0"wn 7o
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V2 IX*27W 0°3w; whether 1"92 is required or not. If we assume the position that
1"91 is required it would also infer that °"9 agrees with 727 that 1"92 is
required on account of nw%. *"1 is also of the opinion that concerning the '
12 the 17 is R¥N X9, Nevertheless according to °" the case of the Xn»92 is
not added to the 70’1 '3; either because we will assume that the position of >
of Xx¥n X7 regarding the w2 '3, follows the other opinion of *" concerning '2
V3 IX"27W that 1"93 is not required; which places *"1 in agreement with X27.
Or we can maintain that the opinion concerning X¥n X? is according to either
view of > in the case of v} 27w '2. However the mawn of 1w '3 follows
the view of X217 and not of 7127. >"7 and 727 follow the view of other a°Xin
who may argue with the implications of this mawn.

THINKING IT OVER

1. Explain the difference: If 152 was not said and there was no arp then Xx¥n
Sran 7M. 12 If however there was 0P and no 1"92 then it is 7272 w3 (even
according to 727).

2. Can we reconcile the previous issue if we assume that the "3 in 9010 on
71 7" X,3 is referring to X297 as well?!?

12 See footnote # 5.
13 See (also) following n°va °x 7"7 2,7 'o1n
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